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CALCULUS – Improper integrals

Filippo Terragni, Eduardo Sánchez Villaseñor, Manuel Carretero Cerrajero

Problem 9.1. Study the convergence of the following improper integrals.
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Problem 9.2. Study the convergence of the given improper integrals (exponential
probability distribution). ∫+∞
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Problem 9.3. Analyze the convergence of the indicated improper integrals (normal
probability distribution).∫+∞
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Problem 9.4. Study the convergence of the given improper integrals (log-normal
probability distribution).
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Problem 9.5. Study whether the following improper integrals converge or not
(beta probability distribution).∫ 1
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Problem 9.6. Study the convergence of the given improper integral (F probability
distribution). ∫+∞
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